(2) Threaded Plugs

FLBAI10l & FLBARI 0l (1) Cap

Adjustable Floor Box Series

Contents: " CoverPlate

(1) Adjustable Floor Box o} w/ Gasket

{1) TR Receptacie (Duplex) (5)#6-32 X 1/2" Long Screw

(1) Back Plate

(1) Cover Plate w/ Gasket 4 #M.

(5) #6-32 x 1/2" Long Screws (4) #6 Drywall Screw

{4) #6 Drywall Screws

(2) Threaded Plugs

(1) NM94 Connector

(1) NM900 Plug

(1) Cap (for Adjustment Screw
Hole in Cover Plate)

(1) Metal Clip

COLOR CODE
W White
B Black
BR  Brown Assembled View of FLBAI 01 Assembled View of FLBAR! 0!
LA Light Almond with Rectangular Cover with Round Cover

3 Metal Clip

NM94 Connector
6. [y
~.

Bracket

Adjustable
Floor Box

NM900 Plug

Installation Instructions: X,

1. Determine location to install FLBA1 0l / FLBARI 01 Adjustable Floor Box avoiding floor joist.

2. Cuta 2-3/8" x 3-3/4" hole in floor.

3. Install NM94 Connector in opening to be used in Box & install NM900 Plug in the other opening.
4, Pull cable through the NM94 Connector.

5. Install Box to floor by attaching top of bracket with (2) #6 Drywall Screws (provided) to floor.

6. Adjust top of Box to finished floor height.

7. Wire receptacle and install in box. [

8. Install Back Plate using (1) #6-32 screw provided.

9. Install Metal Clip with (2) #6 Drywall screws provided.

10. Install Cover Plate using (4) #6-32 screws provided and
insert Cap in adjusting hole.

Wire Receptacle per NEC,
State, and Local Codes.

The manufacturer and distributor warrant this product for material and workmanship only, and shall not be liable for any special incident or consequential damages
or for damages or loss caused by improper use or installation.

Questions/Parts Missing: Please call our Customer Service Department at 1 -800-233-4717. Do not call or return this product to your local store or distributor.




